Swooooooooooooooood
Oooooooooon

oooobogogoon
gooon
gooooobod

20070 20 200



OoI1g S-woooooooooooboboooboboobooboboo

010 S-wOoOoOoOd
1.1 SWOOOOOOOOODO ... e e e e e
1.2 SSWOODODO ..o e e s e
1.3 1t 000000000000 @ ... o e
1.4 O000 ..o e

020 000000
21 0000000000 ... e
22 00000000 .o e s
23 000000 ... e
24 e OO ..o
25 00000 .. e
2.6 O0OO0OODO .. e s e

ug3g odgoo

040 0OO0OO0OOOOOO
4.1 S-WOOOOOOO .. e e e s s e
42 O0e OO0OOD0O0O0O0O ... e s e e s

Os50 DODO0OO0OOOODOOOOO
T T
9.2 1 =T —y .o e

OII0 S-wOOOoOOD Cassini00000O0O0OOOOO0ODOODODOOO
gogon

060 CassiniOOOOO

o770 DOOOODOOOOODOOOOO
7.1 0000 .o
72 O00O0 ..o e
73 O0OOD0 ..o
74 OOOD0O0O0 ..

g8 oOdaoo

S U R

© 00 I I

12
12
19

21
21
22

23

24

25
25
25
25
26

27



g9 OOoOooOOobDOO

d1o00 0o
10,1 OOOOOOO .. e e e e e e e e e e e e e e e e e e e e
10.1.1 Inkscape . . . . . . . ..
10.1.2 OOO0O000 . ..o e e e e e e e e e s
10.1.3 ODOOOOOOO . . o 0o e e s s s e s e s
10.1.4 EPS-conv . . . . . .
10.2 OO0O0 . oo e e e e e e
1021 OOO0OO0O0O [0OQ]O00000 « .o oo v v e



010

S-wilioiodooouoooogno
Joooooobobbod



010 S-wooogd

1.1 S-wioOooooooooo

SWOOOOOODOOOUOShortley-Weller(COOOODOODODOOD)00O0O00000OO0OODO
SswoOOoOOoOoooooooooooooooooooooooooooooooooooboog
gbooooooooooooboboobooboooboboobooobooooooooooooonooon
goooSwOoOooOoooOooooooooooooooooooooooooooooooDo
gooeUiOoOooooopoooooOooOoOoOoOoOo0oOoOooO0Oo-co00000000000oo
gbbooobooboboooboobooooboboooobobooooobooooonn

up = Au ((z,y) € Q,0< 1)
u:f(x’y) ((SL‘,y)EQ,t:O)
u=0 ((x,y) € 6Q)

1.2 S-wiOoogd

Q0 R?00000000000 A, =h,=h000000000000000ODO0O0O0O00O
oooooooQeooooooooooooooooooooooooooooooooooon
gbooobooboobooboobooboooooboobooooboooboooooooboooobooon
gooooooooooooosSswOoooooooog

Ubdz000y00000 NODOODOOOOOOOODOODODOOOOODOODODOOO
gbooooboobooo 2000000000000

| Py

\ Uy

[ u -

\ / N,
T

01jooobooooood g20000000000000




oooo0oooo0odbobDw,, 0000000000000 «000wu; 0w 00000 kO
o00oo0oo0oooDooo0o0ooooDobO0o000o0o0g =hy=hy=hg=00000
goooooooooooooooo0ooobooooooOoSwoDOoD 200000000DO
gooboooooooo

Ay~ 2 Up —U U=y n 2 Uy —U  U—Uq
~ hi+hy hy hy Ry + ha ha ha '

hy=h,=h,=hg=h00000000000000C00O000OO

1
Ay ~ ﬁ(uu+ud—|—ur—|—ul — 4u).

1.3 t gooobogoao

gbgboooogbooboobobobobobbobotorogboboboboboboobon
goooon

N=300000 T§%2:6.94446—05D|]D|:|DDDDDDDDDDDDDT = 6.9444e — 05

ggbogooan

t=0.00100000000000DO0DOODOODOODODOOOOOOOObDObOObOObOObOn
gbooooboboooooboooobobooogoo

toodbogboogboobobobobbobooboobooboobonooba TS%ZZ
6.9444e - 050000 200000000000 0ODO0ODOOO



1.4 0O0OOO

rO00oooooos-woooooooooooooooo

< —.
=7

gooooooopoooooOoD0o0oooogoooooooooooogooo AOOOoOooo
hryhi,hy,hqa DOO00O00O0D0O0OO0O0ODO TS%QDDDDDDDDDDDDDDDDDDDDD
gboooobooboobO-r0o00O0bO0bOO0O0b0OobOOobon

ooboobooooooooooobooooooboooooboboooooboboobo2000000
gooooobobobobobooooooobobobooboobobobobobooooo
0000000000000 0O00000 AO0D0D00OD0OO0O0O00000 e1h,e2h(0<e1,e0<1)
0000000 e1h,eoh O

2 Up — U U — U 2 Uy, — U U — Ug

Ay ~
v T ) Y ha

).

oboooopDoOoboooobooooboobooouonDOn hy=ehb0h, =R 00000

2 Up — U U — U 2 Uy — U U — Ug

Au ~ .
Y sm+ﬁ( h c1h +@h+h(@h )

ggbogooan

Au 2 ( Sy +Uu;  Equg + uu> B 2(e1 +€2)

= ﬁ 61(61 + 1) 62(82 —+ 1) g1€9h?

n+1

w = Auyuy == 00000 000000000
00000000 wWd«w"0000000000000000000000

S 27 (eluﬁ +ul  equl +uz) N (1 _27(es +52)) un

'y e1(er+1)  ealea+1) €169h?

gbobooboooooobobooobooobooobooobooooobooobobooooboooonn
gboooobooooooooooooobbL"O00b00b0000co0ooocoooooogro
gboboooog

€1€2h2
T —
2(61 —|—€2)

gbooooboooboooboobobor-rbOO0000obO0ob0ob0oboOoboon
gb200000000000000004000000000000000000O0O0O000AO
oboooo

€1€2€3€4h2
~ 2(e163 + €264)



20 4Oogbuod

2.1 JUOO0oobooood

goboboboboboobooboobooboobooboobobbobbobn

oboooooooooooboobooboobobobooboooooooboobobOoboooon
goobooobooooooboobooboooboooobooobooboboobbooboboobobobooooo
gbobooobooobooooboooboobooooboooooobooooboobobooooooon
gbooooooooon

| Py

T——"

0210000

guobbooobooobbooobooobboobboobbooobbooobbooboa
gooooooooooooooooooooooodw, 00000000000000000
0000000000000 O0w(DOO0O0O0)00D0o0O0UO0OO0DU0DOOO0OODOooOOOUOo
gboboooobooboooboobooooboboooboobooobooooboobooooobooon

22 JO0O0000OO0OO0O

0000000000000000000000000000000000000000000
000000000000000000000000000000000000 0000000
00000000000000000000000000000000000000000h(O
000000000000000D000000000000000000000000w,;,;000
0 (z,y,) 00000



gbooooobobobobobobobobouoo oo obobobuoybobOoboo

oood «zd
r=/r? —yj.

goooodoooodoodoooond w0000 ulDDDDDx:,/TQ—yJZDyj)DDD
ooboooobo0ododbbfuw,; 0w 0000000 O MK=2020000000000
gobooboobooooboobooon

23 O0OO0OOOO

0000000000000000000000000000000000000000000
0000000000000000000000000000000000

00000000 1000000000000000000000000 (3/N)?+ (4/N)? =
(5/N)20000000000000000000000000000000000000000
O PCOOODO (3/N)?+(4/N)2=(5/N)>—a00000000

/.f-""

—

~
B

| >

BN

02300000000000000

gboooooobooobooboboooooobooboboooooobode0obooogon
0000000000 double000 107500000000 00000000000O0O0O0O00O0O
gbooboooooboooogooboooooboobooobooboboooooboboooooo

0000000000000 D00OO00000000000000»—10" 000000000
gbooboooboobooooboboooooboboooooboooooboobooooonn

oboboooboooobooooobooooobOoOooooo0ooboonon N =500000 1000
000000 D00 100300000 107°“00000000000000000000

gooooooooooobo0oooDb wo0000obo0ooooooOooboO0O0ON >50000
gboooooooon



24 00

obo0booo0obO0o0obe D00O00O0O00O0O0000O00O00DbO0000000e OO0
Or-r000000000D0000«e 0000000000 0OD00DOOOO0OODOOODOO
ooNOODODOOOOOOOOoOoOooOoODObOOODODOOODOO0OO0OobooOoODOOObOODOOOD
0000000000 0O000N=5000000000 (x,y) D0ODOO0OOOOOODOOOOO
000000« 0000NOOODODOODODO

0.8

"yps?,data"  +

07}
0.6}
0.5}
0.4}
0.3}
02p .

oLt -
+‘+;$;-:‘_‘ Rt -
o L e S e R e e e e
0 50 100
514,426, 0,643052

0241000

gobgooboboboobbooboobooboobooo

1

"yps2.data" -

01 F

0,01

0,001
1

10 1000

1225,70,  0,0674554

0241e000 (00)

00dddOd0e > (000 c0O0D0)0D00D0D00O00O0OO0OO



25 0JOO0on

0000000000000 000000000000000002000000000000
00000000000000000000000000000000000000000000
0000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000
00000000000000040000000000000000040000000M (0
0)00)D(00)00)00000000000000000000000000000000
0000000000000000000000000000000000000000

26 O0OO0OOOO

gbobooboooooobooboooboobooobooboooooobooooonn
gboooooooboobooooooboooboooooboooobooobobooobooooooooboon
0000000o0o0ooooa f(ey)=1—+224+y2000000

gb2600000000

10



30 oot

N=30(00006000)

L

t=0 t=0.001

?

t=0.005 t=0.01

]

t=0.02 t=0.05

11



40 4UOoouoodo

4.1 S-wOOOOoood

SswOoOOOoooooooooooooooooooooooo

/*
* heat2d-e-sw.c -- solve the heat equation in a two dimensional square region
* by explicit finite difference method. (version 6.0)

*

* To compile this program -> ccmg heat2d-e-sw.c

*/

#include <stdio.h>
#include <math.h>

/* to use matrix, new_matrix() *x/

#include <matrix.h>
/* to use GLSC */

#define G_DOUBLE
#include <glsc.h>

int main()

{
int N, i, j, n, skip, nMax;
double h, lambda, tau, Tmax, t, c, dt ,ypsl,yps2,ypsr,minyps,maxtau;
double x,r,hl,hr,hu,hd;
double xi,xil,xir,yj,yjd,yju;
double ul,ur,uu,ud;
matrix u, newu;
double f(double, double, double);
double a(double, double);

printf("N: "); scanf("%d",&N);
N=2x*N;
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h=1.0/N;
r=0.5;
yps1=1.0;
yps2=1.0;
maxtau=1.0;
minyps=1.0;
ypsr=1.0e-14;

/xsoksksorskokokskokskskokskok [ [ g OO OT OO OO  skskskskskokskskokskokkskokskkok /
for (i = 1;i<N/2; i++){
xi =r-ixh;
xil=r-(i-1)*h;
for (j = 1;j<N/2; j++){
yi=r-j*h;
if (sqrt(xi*xi+yj*yj)-r<-ypsr && sqrt(xil*xil+yj*yj)>r){
ypsl=(sqrt(r*r-yj*yj)-xi) /h;

if (ypsi<minyps)
minyps=ypsl;

hd=sqrt (r*r-xi*xi)-yj;

if (hd>h){
hd=h;

}

yps2=hd/h;

if (maxtau>ypsl*yps2*h*h/(2.0*(ypsl+yps2)))
maxtau=ypsl*yps2xh*h/(2.0*(ypsl+yps2));
}
printf("e 000 O=Y%g\n",minyps) ;
if (minyps<1.0e-06){

printf ("sxkkxkke [0 0O O OO O kkkkkkkx\n") ;

if ((u = new_matrix(N + 1, N + 1)) == NULL) {
fprintf(stderr, "OO v OO0O0O0OOOOOOOOM;
exit(1);
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if ((newu = new_matrix(N + 1, N + 1)) == NULL) {
fprintf(stderr, "ODO newu OOO0OOOD0OODOOOO");
exit(1);

}

printf("Tmax: "); scanf(")1f", &Tmax);

printf("t (O%g ): ", maxtau);
scanf ("%1f", &tau);

lambda = 2.0*tau/(h*h);
printf("A =%g OO0 O0O0000\n", lambda);

printf("A t: ");

scanf ("%1f", &dt);

skip = rint(dt / tau);

if (skip == 0) {
printf("A tO0000O00O000A t=t OOOOO\n");
skip = 1;

}

dt = skip * tau;

g_init("Meta", 250.0, 160.0);

g_device(G_BOTH) ;

g_def_scale(0, 0.0, 2.0, 0.0, 2.0, 30.0, 70.0, 100.0, 72.0);
g_def_line(0, G_BLACK, O, G_LINE_SOLID);

g_sel_scale(0);

for (i = 0; i <= N; i++)
for (j = 0; j <= N; j++)
ulil [j] = £(i*h, j*h,r);

g_clsQ);

g_hidden2(1.0, 1.0, 0.4, -1.0, 1.0, 5.0, 25.0, 20.0, 20.0, 20.0,
150.0, 100.0, u, N+ 1, N + 1,
1, G_SIDE_NONE, 2, 1);

nMax = rint(Tmax / tau);
for (n = 1; n <= nMax; n++) {
[/ kskoksk ok skokook ok sk ok kokok ok sk skok ][] [ skokokskok sk skok sk ok sk sk ok sk sk ok ok sk ok ok /

for (i = 1; i < N/2; i++){
xi =r-ix*h; /* ulil[j1 0 xO0 =/
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xil=r-(i-1)*h; /x ulil (7100000 xO00=*/
/ xskokskokokskokokskokskokskskokskokskskokok [ [ [ [ [0 [ skeokskokokskokskoskskskok sk skokskok sk skok ok /
for (j = 1; j < N/2; j++){
yj=r-j*h; /x* ulil[j1 0 yOO %/
yjd=r-(j-1)*h; /* ulil[j1 000 yOO =/

if (sqrt(xi*xi+yj*yj) < r-ypsr){
if (sqrt(xil*xil+yj*yj) > r-ypsr){
x=sqrt (r*xr-yj*yj);
hl=x-xi;
ul=a(r-x,j*h);
}
else{
hl=h;
ul=uli-1][j];
}
hr=h;
ur=uli+1] [j];
}
if (sqrt (xixxi+yj*yj) < r-ypsr){
if (sqrt(xi*xi+yjd*yjd) > r-ypsr){
x=sqrt (r*r-xi*xi) ;
hd=x-yj;
ud=a(i*h,r-x);
}
else{
hd=h;
ud=uli] [j-1];
}
hu=h;
uu=uli] [j+1];

newu[i] [j1=uli] [jI1+taux(2.0* ((ur-uli] [j])/hr-(uli]l [jI1-ul)/hl)/(hr+hl)+
2.0x((uu-uli] [j1) /hu-(ulil [j1-ud) /hd) / (hu+hd)) ;
}
else{
newul[i] [j] = 0.0;

/kskokokskokskskokskokok ko sk ok skokskskok ][] [ [ [0 [ skokokskokskoskok sk sk sk skok sk skok sk ok sk ok /
for (j = N/2; j < N; j++){
yj=j*h-r;

15



yju=(j+1)*h-r;
if (sqrt (xixxi+yj*yj) < r-ypsr){
if (sqrt(xil*xil+yj*yj) > r-ypsr){
x=sqrt (r*r-yj*yj);
hl=x-xi;
ul=a(r-x,j*h);
}
else{
hl=h;
ul=uli-1][j];
}
hr=h;
ur=uli+1] [j];
}
if (sqrt (xi*xi+yj*yj) < r-ypsr){
if (sqrt(xi*xi+yju*xyju) > r-ypsr){
x=sqrt (r*r-xi*xi) ;
hu=x-yj;
uu=a(i*h,r+x);
}
else{
hu=h;
uu=uli] [j+1];
}
hd=h;
ud=ulil [j-17;

newu[i] [j1=uli] [j]+taux(2.0%((ur-ulil [j1) /hr-(uli] [j1-ul)/h1)/ (hr+h1)+
2.0*((uu-ulil [j1) /hu-(uli] [j]-ud) /hd) / (hu+hd));
}
else mnewul[i] [j]=0.0;

}
/KR ok sk kkokokkokokok sk kokokokkok [] [ [ skskskoskokok sk ok ok sk k ok ok sk ok ok ok ok ok ok /
for (i = N/2; i < N; i++){
xi=ixh-r;
xir=(i+1) *h-r;
/ ko skokskok sk okosksk ok skokskokskokskokokok [ [ [ [0 [0 [ skskoskokookokok sk ok sk ok sk ok sk ok ok sk ok sk ok sk ok sk ok ko /
for (j = 1; j < N/2; j++){
yj=r-j*h;
yjd=r-(j-1)*h;
if (sqrt (xi*xit+yj*yj) < r-ypsr){
if (sqrt(xir*xir+yj*yj) > r-ypsr){
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x=sqrt (r*r-yj*yj);
hr=x-xi;
ur=a(r+x, j*h);

}

else{
hr=h;
ur=uli+1] [j];

}

hl=h;

ul=uli-1][j];

}
if (sqrt( xi*xi + yj*yj) < r-ypsr){

if(sqrt( xi*xi + yjd * yjd ) > r-ypsr){
x=sqrt (r*r-xi*xi) ;
hd=x-yj;
ud=a(i*h,r-x);

}

else{
hd=h;
ud=uli] [j-1];

}

hu=h;

uu=uli] [j+1]1;

newu[i] [j1=uli] [jI1+taux(2.0* ((ur-uli] [j])/hr-(uli]l [jI1-ul)/hl)/(hr+h1l)+
2.0x((uu-ulil [j1) /hu-(ulil [j1-ud) /hd)/(hu+hd));
}
else newuli] [j] = 0.0;
}

[/ kskokskskok sk sk kok sk kok sk sk sk skokokskok ][] [ [ [0 [ skokokskokskoskook sk ok sk sk ok sk ok ok sk ok sk sk ok sk ok sk ok /
for (j = N/2; j < N; j++){
yj=j*h-r;
yju=(j+1)*h-r;
if (sqrt (xi*xit+yj*yj) < r-ypsr){
if (sqrt(xir*xir+yj*yj) > r-ypsr){
x=sqrt(r*r-yj*yj);

hr=x-xi;
ur=a(r+x, j*h);
¥
elseq
hr=h;
ur=uli+1] [j];
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}
hl=h;
ul=uli-1][j];
}
if (sqrt (xixxi+yj*yj) < r-ypsr){
if (sqrt(xi*xit+yju*xyju) > r-ypsr){
x=sqrt (r*r-xi*xi) ;
hu=x-yj;
uu=a(i*h,x+r);
}
else{
hu=h;
uu=uli] [j+1];
}
hd=h;
ud=uli] [j-11;

newu[i] [j1=uli] [j1+taux(2.0*((ur-ulil [j1)/hr-(ulil [j1-ul)/h1)/(hr+h1)+
2.0x((uu-ulil [j1) /hu-(ul[i] [j]1-ud) /hd) / (hu+hd)) ;
}
else mnewuli] [j]=0.0;

for (i = 0; i <= N; i++)
for (j = 0; j <= N; j++)
ulil [j] = newulil [j]1;
if (n % skip == 0){
g_clsQ;
g_hidden2(1.0, 1.0, 0.4, -1.0, 1.0, 5.0, 25.0, 20.0, 20.0, 20.0,
150.0, 100.0, u, N + 1, N + 1,
1, G_SIDE_NONE, 2, 1);
¥
t = tau * n;
}
/* 000000000000 000 =/
g_sleep(-1.0);
/« 00000000 =/
g_term();

return O;

double f(double x, double y,double r){
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if (sqrt ((x-r)*(x-r)+(y-r)*(y-r)) < r+1.0e-14 )

return 2.0-4.0*sqrt ((x-r)*(x-1)+(y-r)*(y-1));

else return O;

double a(double x, double y){

return O;

4.2 U0« U000O0O0OOOO

U000 NODOOe OOOODOOOOOODOOOOODOObOeOOOOODOO

#include <stdio.h>
#include <math.h>

main(){
int N, i, j, k;
double h,t,c;
double yps,minyps,ypsr,minminyps;
double x,r,hl;
double xi,xil,yj;

/* printf ("N: "); scanf("%d",&N);*/

N=500;

r = 0.5;
yps = 1.0;
ypsr=1.0e-14;

minminyps=1.0;

for(k = 2 ;k<=N; k++){
k = kx*x2;
h = 1.0/k;
minyps = 1.0;
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for (1 =1 ; 1< k/2 ; i++){
Xi = r-ixh;
xil = r-(i-1)*h;

for (j =1 ; j<k/2 ; j++){
yj = r-J*h;

if (sqrt(xi*xi+yj*yj)-r < -ypsr && sqrt(xil*xil+yj*yj)>r)q{
yps=(sqrt(r*r-yj*yj)-xi) /h;

if ( yps < minyps ){
minyps = yps;
if (minyps < minminyps ){

minminyps = minyps;

}
if ((k/2)%56==0){
printf("N=%3d € O0O00OO=%g ", k/2 , minyps);
}
k=k/2;
}
printf ("\n O0O0O0O¢e OY%g \n",minminyps) ;
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/*
* heat2d-e-sw-h.c —-- solve the heat equation in a two dimensional square region
* by explicit finite difference method. (version 2.0)

*
* To compile this program -> ccmg heat2d-e-sw-h.c

*/

#include <stdio.h>
#include <math.h>

/* to use matrix, new_matrix() */

#include <matrix.h>
/* to use GLSC */

#define G_DOUBLE
#include <glsc.h>

int main()

{
int N, i, j, n, skip, nMax;
double d,b;
double h, lambda, tau, Tmax, t, c, dt ,ypsl,yps2,ypsr,minyps,maxtau;
double x,r,hl,hr,hu,hd;
double xi,xil,xir,yj,yjd,yju;
double ul,ur,uu,ud;
matrix u, newu;
double f(double, double, double, double);
double pita(double,double);
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double a(double, double);

printf("N: "); scanf("%d",&N);
N=2x*N;

h=1.0/N;
r=0.5;
yps1=1.0;
yps2=1.0;
maxtau=1.0;
minyps=1.0;
ypsr=1.0e-10;

d=0.3;
b=1.05%*d;

/xskokskskorskskokskokskskokskok[] [ g OO OT OO OO  skskskskskokokskokskoskkskokokkk /
for (i = 1;i<N/2; i++){

Xxi =r-ixh;

xil=r-(i-1)*h;

xir=r-(i+1)*h;
for (j = 1;j<N/2; j++){
yJ=r=j*h;
if (pita(xi,yj)<b*b-ypsr){
if (pita(xil,yj)>b*b-ypsr){

x=sqrt (dxd-yj*yj+sqrt (b*bxb*b-4*d*d*yj*yj));

hl=x-xi;
yps1=hl/h;

if (ypsi<minyps)

minyps=ypsl;
x=sqrt (-d*d-xi*xi+sqrt (bxb*b*b+4*d*d*xi*xi)) ;
hd=x-yj;

if (hd>h){
hd=h;
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yps2=hd/h;

if (maxtau>ypsl*yps2+h*h/(2.0* (ypsl+yps2)))
maxtau=ypsl*yps2xh*h/(2.0*(ypsl+yps2));

}

if (pita(xir,yj)>b*b-ypsr){

x=sqrt (d*d-yj*yj-sqrt (bxb*b*b-4*d*d*yj*yj)) ;

hr=xi-x;
ypsl=hr/h;

if (ypsi<minyps)
minyps=ypsli;

x=sqrt (-d*d-xi*xi+sqrt (bxb*b*b+4*d*d*xi*xi)) ;
hd=x-yj;

if (hd>h){
hd=h;

yps2=hd/h;

if (maxtau>ypsl*yps2*h*h/(2.0%(ypsl+yps2)))
maxtau=yps1*yps2*xh*h/(2.0*%(ypsi+yps2));

}
printf("e OO0 O=Y%g\n" ,minyps) ;

if ((u = new_matrix(N + 1, N + 1)) == NULL) {
fprintf(stderr, "O0O w 00000000 OOOOM);
exit(1);

}

if ((newu = new_matrix(N + 1, N + 1)) == NULL) {
fprintf(stderr, "ODO newu OO O0OOODOODOOOO");
exit(1);

}

printf("Tmax: "); scanf(")1f", &Tmax);
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printf("t (O%g ): ", maxtau);
scanf ("%1f", &tau);

lambda = 2.0*tau/(h*h);
printf("A =Yg OOOOODOO\n", lambda);

printf ("A t: ");

scanf ("%1f", &dt);

skip = rint(dt / tauw);

if (skip == 0) {
printf("A t000000O00O0A t=t OOOOO\n");
skip = 1;

}

dt = skip * tau;

g_init("Meta", 250.0, 160.0);

g_device (G_BOTH) ;

g_def_scale(0, 0.0, 2.0, 0.0, 2.0, 30.0, 70.0, 100.0, 72.0);
g_def_line(0, G_BLACK, O, G_LINE_SOLID);

g_sel_scale(0);

for (i = 0; i <= N; i++)
for (j = 0; j <= N; j++)
uli] [j] = £(i*h, j*h, d, b);

g_clsQ;

g_hidden2(1.0, 1.0, 0.4, -1.0, 1.0, 5.0, 25.0, 20.0, 20.0, 20.0,
150.0, 100.0, u, N+ 1, N + 1,
1, G_SIDE_NONE, 2, 1);

nMax = rint(Tmax / tau);

for (n = 1; n <= nMax; n++) {
ko ok Kok Kok ok kokok sk okok ok [ s skokkokokok ok okok ko s okok Kok Kok /
for (i = 1; i < N/2; i++){
xi =r-ixh; /* ulil (310 x00 =/
xil=r-(i-1)*h; /¥ ulil (31 00000 x0O00=%/

xir=r-(i+1)*h;
/3 koo ok okok sk okok ok skok stk skokok [ [ ok stk kokosk skokok o skok e skok ok kok /

for (j = 1; j < N/2; j++){
yj=r-j*h; /¥ ulil[j1 0 yOO =/
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yjd=r-(j-1)*h; /* ul[il[j1 000 yOO =/

if (pita(xi,yj) < bxb-ypsr){
if (pita(xil,yj) > b*b-ypsr){
x=sqrt (d*xd-yj*yj+sqrt (b*xbxbxb-4*xd*d*yj*yj)) ;
hl=x-xi;
ul=a(r-x,j*h);
}
else{
hl=h;
ul=uli-1][j];
}
}
if (pita(xi,yj) < bxb-ypsr){
if (pita(xir,yj) > b*b-ypsr){
x=sqrt (d*xd-yj*yj-sqrt (b*xbxbxb-4*xd*d*yj*yj)) ;
hr=xi-x;
ur=a(r-x,j*h);
}
else{
hr=h;
ur=uli+1] [j];
}
}
if (pita(xi,yj) < bxb-ypsr){
if (pita(xi,yjd) > b*b-ypsr){
x=sqrt (-d*d-xi*xi+sqrt (bxb*b*b+4*d*d*xi*xi)) ;
hd=x-yj;
ud=a(i*h,r-x);
}
else{
hd=h;
ud=uli] [j-1];
}
hu=h;
uu=uli] [j+1];

newu[i] [jl=uli] [jl1+taux(2.0*((ur-uli] [j])/hr-(uli] [j1-ul)/h1)/(hr+hl)+
2.0*%((uu-ulil [j1) /hu-(ulil [j1-ud) /hd)/ (hu+hd)) ;
}
elseq{
newu[i] [j] = 0.0;
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JFFREA AR KRRk okok [ [ kokokokokskokokok Rk ok ok Kk kR kK ok [
for (j = N/2; j < N; j++){
yj=j*h-r;
yju=(j+1)*h-r;
if (pita(xi,yj) < bxb-ypsr){
if (pita(xil,yj) > b*b-ypsr){
x=sqrt (d*d-yj*yj+sqrt (b*bxb*xb-4xd*d*yj*yj)) ;
hl=x-xi;
ul=a(r-x, j*h);
}
else{
hl=h;
ul=uli-11[j];

if (pita(xi,yj) < bxb-ypsr){

if (pita(xir,yj) > b*b-ypsr){
x=sqrt (d*d-yj*yj-sqrt (b*bxb*xb-4xd*d*yj*yj)) ;
hr=x;
ur=a(r-x, j*h);

}

else{
hr=h;
ur=uli+1] [j];

}
if (pita(xi,yj) < b*b-ypsr){
if (pita(xi,yju) > b*b-ypsr){
x=sqrt (-d*d-xi*xi+sqrt (bxb*b*b+4*d*d*xi*xi)) ;
hu=x-yj;
uu=a(i*h,r+x);
}
else{
hu=h;
uu=uli] [j+1];
}
hd=h;
ud=ulil [j-17;

newul[i] [j1=uli] [jI1+taux(2.0*((ur-uli] [j])/hr-(ulil [jI1-ul)/hl)/(hr+hl)+
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2.0x((uu-ulil [j1) /hu-(ulil [j1-ud) /hd)/ (hu+hd));

}
else newul[i] [j]=0.0;

}

[/ kKoK sk ok sk skokok ok ok ok ok ko okokok [T skokskoskookook ok ok ok ok ok ok ok ok ok ok ok ok ok ok okok /
for (i = N/2; i < N; i++){

xi=ixh-r;

xir=(i+1)*h-r;

xil=(i-1) *h-r;

/KRR A KA KA AK KKK AR KKK ][] hokokokokokok ok ook Kok ok Kok ko ok Kok Kok ok ok
for (j = 1; j < N/2; j++){
yj=r-j*h;
yjd=r-(j-1)*h;
if (pita(xi,yj) < b*b-ypsr){
if (pita(xir,yj) > b*b-ypsr){
x=sqrt (d*d-yj*yj+sqrt (b*b*b*xb-4xd*d*yj*yj)) ;
hr=x-xi;
ur=a(r+x, j*h);
}
else{
hr=h;
ur=uli+1] [j];

}
if (pita(xi,yj )< bxb-ypsr){
if (pita(xil,yj) > b*b-ypsr){
x=sqrt (d*d-yj*yj-sqrt (b*bxb*xb-4xd*d*yj*yj)) ;
hl=xi-x;
ul=a(r+x, j*h);
}
else{
hl=h;
ul=uli-1][j];
}
}
if (pita( xi,yj) < b*b-ypsr){
if(pita( xi, yjd ) > b*b-ypsr){
x=sqrt (-d*d-xi*xi+sqrt (b*xb*b*b+4*d*xd*xi*xi)) ;
hd=x-yj;

ud=a(i*h,r-x);
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elseq
hd=h;
ud=uli] [j-1];
}
hu=h;
uu=uli] [j+1];

newu[i] [j1=uli] [jl1+taux(2.0*((ur-uli] [j])/hr-(uli] [j1-ul)/h1)/(hr+hl)+
2.0x((uu-ulil [j1) /hu-(uli]l [j1-ud) /hd)/(hu+hd)) ;
}
else mnewuli][j] = 0.0;
}
JFRRF A AR KA ARk ko [ [ okokokokokkokok ok Kok ok ok ok ok ook Kok Kok Rk ok /
for (j = N/2; j < N; j+H){
yj=j*h-r;
yju=(j+1)*h-r;
if(pita(xi,yj) < bxb-ypsr){
if (pita(xir,yj) > bxb-ypsr){
x=sqrt (d*d-yj*yj+sqrt (bxbxb*b-4*d*d*yj*yj)) ;

hr=x-xi;
ur=a(r+x, j*h) ;
}
elseq{
hr=h;
ur=uli+1] [j];

if (pita(xi,yj) < bxb-ypsr){

if (pita(xil,yj) > b*b-ypsr){
x=sqrt (d*xd-yj*yj-sqrt (b*xb*xbxb-4*d*d*yj*yj)) ;
hl=xi-x;
ul=a(r+x,j*h);

}

else{
hl=h;
ul=uli-11[j1;

if (pita(xi,yj) < bxb-ypsr){
if(pita(xi,yju) > bxb-ypsr){
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x=sqrt (-d*d-xi*xi+sqrt (bxb*b*b+4*d*d*xi*xi)) ;
hu=x-yj;
uu=a(i*h,x+r);
}
else{
hu=h;
uu=uli] [j+1];
}
hd=h;
ud=uli] [j-11;

newu[i] [j1=uli] [jl1+taux(2.0*((ur-uli] [j])/hr-(uli] [j1-ul)/h1)/(hr+hl)+
2.0x((uu-ulil [j1) /hu-(ulil [j]1-ud) /hd)/(hu+hd));
}
else mnewul[i] [j]=0.0;

for (i = 0; 1 <= N; i++)
for (j = 0; j <= N; j++)
ulil [j] = newuli] [j1;
if (n % skip == 0){
g_clsQ);
g_hidden2(1.0, 1.0, 0.4, -1.0, 1.0, 5.0, 25.0, 20.0, 20.0, 20.0,
150.0, 100.0, u, N + 1, N + 1,
1, G_SIDE_NONE, 2, 1);
}
t = tau * n;
¥
/* O0000000000OooOono =/
g_sleep(-1.0);
/¥ 00000000 =/
g_term();

return 0;

double f(double x, double y,double d,double b){
double r=0.5;
if (sqrt (((x-r)* (x—r)+(y-r)* (y-r) +d*d) * ((x-1) * (x~r) + (y-1) * (y-r) +d*d) —4*d*d* (x-1) * (x-r)) < b*b-1.
return 15%(b*b-sqrt (((x-r)*(x-r)+(y-r)*(y-r)+d*d) * ((x-1)* (x-r)+(y-r) * (y-r) +d*d) ~4*d*d* (x—1) * (

else return O;

36



double pita(double x,double y){
double d=0.3;
double b=1.05%d;
return sqrt((x*kx+y*y+d*d)* (xxx+y*y+d*d) -4*xd*d*x*x) ;

double a(double x, double y){

return O;
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